UNIT : SECTION : TOWNSHIP :
L: 325 e 3725 L/ 1 G/QMIX 0.654
§C02 :  0.04 M 767 12§ IATE ¢ ERR
d: 1.995 Fr :0.018231 GH : 2436.2 RANGE
VL1: 250 DPSIAL: 163.2 RESV.TEMP 1112
VOL 2 : PSIA 2 :
VOL 3 : PSIA 3 : SHUT-IN PR= 1053.2
VOL 4 ¢ PSIA 4 :
BCR : 662
CR 154
LINE RATE | RATE 2 RATE 3 RATE ¢
“18T “IND “18T D | CIST D "18T “2ND
1 0.250 | 0.250 | 0.000 | 0.000 | 0.000 | 0.000 % 0.000 0.000
2 W 534 534 534 534 534 534 534 534
1 B 7.2 1.2 STL2 | 5TLZ | 5TL2 | STL2 | 5L 571.2
§ 7 552.6 552.6 | 552.6 | 552.6 | 552.6 | 552.6 | 552.6 552.%
PR (est) 0.25 §.00 0.00 0.00
5 1(est) 0.955 | 0.953 | ERR ERR ERR ERR ERR ERR
§ T 521.5 | 526.9 ERR ERR ERR ERR ERR ERR
7 G/ 4,618 | 4.624 ERR ERR ERR ERR ERR ERR
8 oS 1188 | 1.189 ERR ERR ERR ERR ERR ERR
9 1-e§ 0.159 0.159 ERR ERR ERR ERR ERR ERR
10 Bt 163.2 | 163.2 0.0 0.0 0.0 0.0 0.0 0.0
11 pt2 /1000f  26.6 26.6 0.0 0.0 0.0 0.9 0.0 0.0
12 Fr  [0.018231 [0.018231 {0.018231 |0.018231 |0.018231 10.018231 {0.018231 |0.0182311
13 Fe=PrTZ | 9.617 | 9.605 ERR ERR ERR ERR ERR ERR
14 Fcn 2.40 2.40 ERR ERR ERR ERR ERR ERR
15 L/H{FcQn) 5.8 5.8 ERR ERR ERR ERR ERR ERR
16 B [0.919174 (0.917989 ERR ERR ERR ERR ERR ERR
17 M2 2.8 27.6 ERR ERR ERR ERR ERR ERR
18 Ps2 32.8 12.8 ERR ERR ERR ERR ERR ERR
19 P 181.0 | 18L.0 ERR ERR ERR ERR ERR ERR
W » 172.1 172.1 ERR ERR ERR ERR ERR ERR
A b 0.26 0.2 ERR ERR ERR ERR ERR ERR
YR s 1.56 1.56 1.56 1.56 1.56 1,56 1.56 1.56
2 A 0,953 | 0.953 ERR ERR ERR ERR ERR ERR

Pt2 = Pw = 1660 %
0.0 ERR *
0.0 ERR ¢
0.0 ERR

t

Pc2-Pw2= 10817 P2 = 216 ¢
ERR ERR #
ERR ERR *
ERR ERR #

%

n= 1000 ¢

%

Pc2/(Pc2-PW2) = 1.025 ¢
ERR '

ERR *

ERR '

t

t

[Bc2/Pc2-Pw2]n = 1.025 ¢
ERR '

ERR ¢

ERR t

H

AOF=Q  0.256 t
ERR *

ERR ¢

ERR 1

%

H

t

t

t

H

t

t

t

t

t

¥

b

RORM CI2-D ¢




